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QUESTION 1

Which three NetApp Virtualization products enable storage load balancing? (Choose three.) 

A. Data ONTAP GX 

B. SnapMover 

C. Virtual File Manager 

D. SnapLock 

E. SyncMirror 

Correct Answer: ABC 

 

QUESTION 2

Which feature of the NearStore VTL solution enables it to useup to 50% fewer physical tapes than other VTLs? 

A. shadow tapes 

B. tape smart sizing 

C. self tuning 

D. tape compressor 

Correct Answer: B 

 

QUESTION 3

Multipath HA Storage provides protection against what three storage faults? (Choose three.) 

A. shelf to shelf cable failure 

B. shelf IO module failure 

C. HBA port failure 

D. shelf backplane failure 

E. triple disk failure in an aggregate 

Correct Answer: ABC 

 

QUESTION 4

Which statement is true about mixed mode qtrees? 
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A. A file with UNIX permissions cannot be updated with a Windows ACL. 

B. A file can have both UNIX and Windows permissions. 

C. A file permission is either UNIX or Windows. 

D. Qtree security style is permanent once set. 

Correct Answer: C 

 

QUESTION 5

Which three statements are true about FlexClone? (Choose three.) 

A. You can clone aFlexClone. 

B. FlexClone requires a license. 

C. FlexClone is based on a Snapshot copy. 

D. FlexClone is only supported on FC drives. 

E. FlexClone reserves the usable space of the cloned FlexVol. 

Correct Answer: ABC 

 

QUESTION 6

When proposing SnapManager for Exchange, what are the minimum licenses required? 

A. SnapManager for Exchange SnapDrive SnapRestore FCP or iSCSI 

B. SnapManager for Exchange SnapDrive SnapRestore CIFS FCP or iSCSI 

C. SnapManager for Exchange SnapDrive Single Mailbox Recovery FCP or iSCSI 

D. SnapManager for Exchange Single Mailbox Recovery SnapRestore FlexVol FCP or iSCSI 

Correct Answer: A 

 

QUESTION 7

What are two benefits of using FlexClone in an SAP application environment? (Choose two.) 

A. It accelerates SAP development and testing by providing quick access to copies of production data. 

B. It reduces the amount of disk space needed for production SAP databases by using intelligent compression routines. 

C. It reduces the amount of disk space needed for production, test, and development copies. 

D. It secures data for compliance and regulatory needs. 
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Correct Answer: AC 

 

QUESTION 8

Which Data ONTAP product helps accelerate SAP upgrades and deployment cycles? 

A. FlexClone 

B. SnapMirror 

C. SnapVault 

D. SnapLock 

Correct Answer: A 

 

QUESTION 9

SnapMirrorreplication is implemented at which two data levels? (Choose two.) 

A. LUN 

B. Volume 

C. Aggregate 

D. Qtree 

Correct Answer: BD 

 

QUESTION 10

Enterprise Content Management (ECM) products like Documentum and FileNet require that data is stored in a
nonerasable format. Which NetApp software product provides this? 

A. SnapVault 

B. SnapLock 

C. SnapWORM 

D. SnapMirror 

Correct Answer: B 

 

QUESTION 11

When is SnapMirror Sync a viable solution? 
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A. when the network connection between source and destination provides low latency, reliable connectivity 

B. when the network connection between source and destination is established periodically throughout the day,
withSnapMirror updates scheduled during the connected periods 

C. when the destination copy is periodically broken away from the source and is used for development work and testing 

D. when the hosts must receive confirmation that the write completed with the lowest possible response time 

Correct Answer: A 

 

QUESTION 12

Which factor is important to consider in a SnapMirror Async relationship? 

A. NVRAM capacity 

B. number of parity drives 

C. network latency 

D. network bandwidth 

Correct Answer: D 

 

QUESTION 13

What is an aggregate? 

A. theNetApp name for a RAID group 

B. ahostaccessible logical storage container 

C. a physical collection of one or more RAID groups 

D. a collection of LUNs that make up a single volume 

Correct Answer: C 

 

QUESTION 14

You want to enable data transfer from a NetApp storage system to a Network Attached Tape Library. Which protocol
must you enable to accomplish this? 

A. CIFS 

B. iSCSI 

C. NDMP 

D. NFS 
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Correct Answer: C 

 

QUESTION 15

Appliance Watch integrates with which three thirdparty applications? (Choose three.) 

A. HPOpenView 

B. Microsoft Operations Manager 

C. IBM Tivoli Enterprise 

D. CAUnicenter 

E. Veritas CommandCentral Storage 

Correct Answer: ABC 
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